OcHogHble hopmynel.
Keadpam cymmel:
(a + b)? = a® + 2ab + b?
Keadpam paszHocmu:
(a —b)*> = a® — 2ab + b*?
Pa3Hocmeb keadpamos:
a’ —b?> = (a+ b)(a—b)
Cymma Kybos:
a®+ b* = (a+ b)(a* — ab + b?)
Pa3Hocmeb Kybo8:
a® — b3 = (a — b)(a® + ab + b?)
Kyb6 cymmesi:
(a+ b)® =a®+3a%b + 3ab? + b3
Ky6 pasHocmu:
(a — b)® = a® —3a®b + 3ab? — b3
JonoaHumensHobie gpopmynel.
(a+b+c)*=a*+b*+c*+ 2ab + 2ac + 2bc
(a + b)* = a* + 4a®b + 6a*b? + 4ab® + b*
(a — b)* = a* — 4a®b + 6a?b? — 4ab® + b*

a* — b* = (a* — b*)(a®* + b*) = (a + b)(a — b)(a* + b?)



